Make Tally Charts

1. Count the tallies and fill in the totals.

Fruit Tally Total
Orange HiE
Peach Hit Hit i Hit
Melon Hit i 1
Apple Hit i I

The most popular fruit is

The least popular fruit is

VF

4. Aisha has been bird watching.
I saw more starlings than jays
S Aand robins added fogether. ]
Birds Tally Total
Blackbird | H HHf I
Starling it HH L

Jay HHE
Robin At

Is she correct? Explain how you know.

2. Complete the tallies to match each
total.

Flowers Tally Total
Daisy 23
Tulip 18
Lily 7
Rose 15

VF

5. Luke spilt a drink on his tally chart.

Green was more popular than
blue but less popular than red.

Colour Tally Total
Red i

Yellow AHt W it L1

Blue 1l

Green E -

What could the missing tally be?

PS

3. Match the tallies to their total number.

6. Ben is counting vehicles near the park.

Cars were most popular, bikes were least.
A. it Hi I 18 Altogether, he saw 35 cars and lorries.
There were 18 bikes and buses in total.
B. Hit HHt Hit I 14 Vehicles |Tally Total
4t it 10
C. i Mt | 17 Il 4
it i HiE | 25
D. Mt 4t 1 1 H HiE 14
| Add the correct names to the tally chart.
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Make Tally Charts

1. Orange = 13; Peach = 20; Melon = 18; Apple = 14; The most popular fruit is peach; The
least popular fruit is orange.

2. Flowers Tally Total
Daisy MMM | 238
Tulip el 18
Lily MO 7
Rose MM M 15

3.A.17;B.18;C.11; D. 14

4. Blackbird = 17; Starling = 24; Jay = 14; Robin = 13. Aisha is incorrect because 14 + 13 =
27, 24 is less than 27.

5. Various answers, for example: 10, 11, 12, 13, 14; Red = 15; Yellow = 19; Blue = 9.

6.

Vehicles [Tally Total

Lorries HHt Hit 10

Bikes 1} 4

Cars AHE HHE B HE W | 25

Buses HHE HE 1T 14
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